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&5 X 4 Er%r'n? —Fﬁﬁ“ﬁﬁ‘(i)@ﬁﬁ%ﬁ jj(:iatf)é X 4 'Fﬁn“ﬁéézg;kilz ‘(.%,r'na;f jj(&?tmé)é X 4 E.%,r'na‘; J:ﬁn“ﬁb\(if)tt‘.%‘ jj(&?tmé)é X 4 J:ﬁﬁ;ﬁ\(i)d)tt?%‘ '(r%r'n? ﬁ:ﬁlfnié
1 100kN/m%#8x5 | 1.00 | 0.00 ~ 35.61 158.40 |3m%E#Z 5| 000 ~ 212 3.94 21.11 | 100kN/m%#82% | 1.00 | 1059 ~ 91.09| 15840 |3m%E#BZ 5| 30.00 ~ 91.09| 3.94 21.11
s 1.00 | 361 ~ 1140 100.00 | ENLS | 2212 ~ 1140 3.00 16.05 Thlst 1.00 | 5.00 ~ 10.59 100.00 | =4t | 5.00 ~ 3000 | 3.00 16.05
2 100kN/mM%#8x25 | 1.00 | 0.00 ~ 352 156.84 |3mZi#Bz25| 000 ~ 207 3.91 20.94 | 100kN/miZ#8z25 | 1.00 | 1064 ~ 91.03| 156.84 |3mZE#BZ 5| 30.00 ~ 91.03| 3.91 20.94
s 1.00 | 352 ~ 1131 100.00 | #nLst | 207 ~ 1131 3.00 16.05 Thlst 1.00 | 5.00 ~ 10.64 100.00 | =St | 5.00 ~ 3000 | 3.00 16.05
3 100kN/mM%#8x25 | 1.00 | 0.00 ~ 353 156.99 |3m%#Z5| 000 ~ 207 3.92 20.96 | 100kN/m%#Bz25 | 1.00 | 1063 ~ 89.82| 156.99 |3mE#Bz 3| 3000 ~ 89.82| 3.92 20.96
s 1.00 | 363 ~ 1132 100.00 | ZnLAS | 207 ~ 11.32| 3.00 16.05 Thlst 1.00 | 5.00 ~ 1063 100.00 | =4t | 5.00 ~ 3000 | 3.00 16.05
4 100kN/mM%#8x25 | 1.00 | 0.00 ~ 293 146.48 |3m%z#Z 5| 000 ~ 180 3.74 20.04 | 100kN/mZ#Bz25 | 1.00 | 11.20 ~ 7048 | 146.48 |3mE#BZ S| 40.00 ~ 70.48| 3.74 20.04
s 1.00 | 293 ~ 1071 100.00 | #nLdst | .80 ~ 1071 3.00 16.05 Thlst 1.00 | 5.00 ~ 11.20 100.00 | =4t | 5.00 ~ 40.00 | 3.00 16.05
5 100kN/mM##8x5 | 1.00 | 0.00 ~ 325 152.03 |3m#%#%5%| 000 ~ 031 3.18 17.00 | 100kN/m%i#8z5% | 1.00 | 1068 ~ 2833 | 152.03 |3mE#BZB| 25.00 ~ 2833| 3.18 17.00
s 1.00 | 325 ~ 1103 100.00 | ZnLLAS | 0.31 ~ 1103| 3.00 16.05 Thlst 1.00 | 5.00 ~ 10.68 100.00 | =St | 5.00 ~ 2500 3.00 16.05
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/MZ#8 2 % ~ 3mEEBZD ~ 100kN/ Mm%z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8Z % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8Z % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEEZD ~ 100kN/mM%E#BZ 5 ~ ImEBZD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEEZD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ zhLst ~ ZzhLst ~ Ths ~
100kN/mMZ#8Z % ~ 3ImEEZD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ st ~ st ~ Ths ~
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